RAFFLES GIRLS’ PRIMARY SCHOOL.
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INSTRUCTIONS TO CANDIDATES

1. Do not turn over this page until you are told to do so.
2. Follow all instructions carefully.

3. Answer ALL questions and show alf working clearly.

.. 4. NO calculator is allowed for this paper.
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SECTION A.{20: markg)

Questions 1 to 10 cany 1. marié each. Quéstion 11 to 15 carry 2 marks, gach. For
each question, four options are gven. une [of them is the correct answer. ‘MaKe'your
choice (1, 2, 3 of 4). Shade yolir answerit1, 2, 3 or 4) on the OAS provided. All
- diagrams are not drawn to scale

1. Which ane of the followinginas me-aigit 1-in the millions.place?.  ~ g

() 100600
(@ 100°000

3) 1000000

(4) 10 000 000 ( }
2. 1978 x 75 = 1978 xi26 + x 1978

(1) 49 )

@ 51

(3) 75

@ 101 | )



3. Find the volume of the cubgid shown below.

_ 78 m
7m
(M s56m’
@ 1120’
3) 420w’
@) 560m° _
3
4. 1 has the same value as
1
1 3+ —
(1) 2
1
2 3.
@) 2
1
3 Ix —
3) X 5
1
(4) 2
33 . : .
5. Express 5 as a mixed number. The answeris ____
(1) 3L
6
1
(2 3—
) 2
1
3 3—
(3 3
2
4} 35
( 3

‘ 10m
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b. Al tokied a piece ol paper in half aloiqg the dotled line and cut the shape as
shown below.

When Ali unfolded the parer. which ane of the followina shows the correct
shape of the cut out?

(1) &) (4)

Find the product of 1.28 x 7 Which digit is in the hundredths place?

1 6
@ 2
(3 8

(4) 9 ( )




10.

Express 0.125 as a fraction in its igwest term.

()

l

3
@) .%
3 }5
OR
6:15=j4:

What is the missing numbei

(H
2)
3)
(4)

7
17
23

39

The number of people at a stadium when rounded off to the
nearest thousand was 64 ooo people

M
(2)
(3)
(4)

683 499

63 999
64 499
64 500

~ what was the largest possible number of people in the stadmm"’
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1. 2 ofa dtis22s.

12.

13.

What is the-value of Lt 7

1)

@
(3
@

Which one of the following léfters does not have any line of

45

75
160

375

symmetiy ?

(M
(2)
)
4@

What is the sum of the common factors of 12 and 48 ?

()
@)
&)
(4)

A H S V

(.-

< »w =X

27

28
36

60




. 44, The solid below is made upiof sorme identical 2-cm cubes.

© What is the volume of the s:i-)lid?__,./‘;

(1)
(2)
3
(4)

19 cm®
38 cmy®

136 cm®

152 cm?

15. What is the total shaded area in the figure below?

(1
2)
3)
(4)

I1cm

10 am?

11 cm?
12 cm

13 cm?
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SECTION A (20 marks)

Questions 16 to 25 carry 1 mark each. Write your answers'in the spaces provided.
For questions which require uit¢ give youranswers in the units stated. All diagrams
are notdrawn-fo scale. Answe ¢ in fracfions oriratio must be expressed in the
simplest form. ' '

16.  Form the biggest possible (dd numbe:;-With-tﬁ'e follewing digits.. .-

0,2 3, 4 56 -

Ans:

17.  From the tesselfation provided below. Shade one unit shape of the tessellation.




18. fhe_vgjlmmgo@_hoﬁmmm_ls_éﬂ ome.
if the shape of shaded area square, find length of its base:

A 7cem

Ans:

19. Shade 2 squares to make the figufe below symmetrical.

Line of symmetry
/

7/

G
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20.  Ine pattemytivthe'box beloiw shows:aiart of  tessellation. - .
Extend the tessellation by drawing 2 riiore unit shapes within the box.

21.  Sally had 8% kg of flour. She used 2 ‘1? kg of the flour to make a cake.

How much flour had she left 7

Ans: g




22.  Express 22— “as a decimal, corred t0. 2/ decimal places.”

Ans: e "

23. Sharon bought 8 erasers at $1.36ieach. Sheigave the cashier $50. How much
change did she receive?

Ang: §

24. Mutiara changed $100 into 20-cent coins only. How many 20-cent coins did
she receive?

Ans:

25. Arrange the fractions below in ascending order.

4 7
5

7

|~

Ans:
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Questions 26 to 30 cany 2 marks each. Show your working clearly in the space
provided for each question and write yir answers in the space provided. For
questions which require units, give your an:.wers in the units stated. All diagrams are
not drawn to scale. Answers in fractions or ratio must be expressed in the simplest
form.

26.  Fill in the blanks with the correct symbols, | *+ , —, X, ¥ | suchthatthe
number sentence is correct.

10 + (10 10) 10 = 100

27. Find the missing number in the blank

57.81 = 57 + _7 _ +100 + 0.01

Answer ;




28.  Whatis the maximum number of = -cm cubesithat can be put inside the

rectangular tank measuring 20 cm by 8 cm b 11 cm?

11 cm

8 om

2(icrn

Ans:

29. There are 3 containers filled with :ome wate ' as shown below.

/|

FTTRETTT

00 B OCOCOOOCs = -l

container A containe B container C

All the water in containers B and  is pourea into container A without any water
spilling over. What is the amount »f the water in container A now? Express your
answer in litres.

Ans: {
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30. A set of Christmas tree thttng has 3 Hifferent types of colour bulbs. All the red
bulbs fiash at 2 minutes inverval. All tne green bulbs flash-at 4 mmutes interval
~ and ali the yellow bulbs flash at 5 mindtes interval.

All colour bulbs flash together when:tri lighting is first switched on. How many
more times will all the three colour buibs flash togettier if it is turned on for 1 5

hour?

Ans:

End of . aper-
© Please :heck yot " work carefully ©

Setters: Mr. Ho Kai Huat
Mr. Tan Siew Whatt
Mr. Darren Lau
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Questions 1 to 5 carry 2 marks each. Show, your. workmg clearly in the space
provided for each question and ‘write your answers in the spaces provided.

Figures are not drawn to scale. .

For questions which require units, give your answers in the units stated. (10 marks)

1. There were 108 grrla and 115 boys participating in VoiceBox audition.
-i— of the girls and E of the boys made it to the final round.

What fraction of the children made it to the final round?

- Ans: 2]

2. A robot is able to saw a metal pole into 4 pieces in 12 minutes.
How long will it take to saw an identical metal pole into 12 pieces?

s min [2}

3. There were 520 children taking part in a kid's rage. 240 of them were girls.
What was the ratio of the number of girls to the number of boys?

Ans: i2]
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% of Andy's cookies is equal to 2 of Ben's cookes. What s the ratio of the

number of Andy’s cookies to the hu_mber of Ben's cookies ?

Ans: (2}

The figure below is made up of equilateral triangles. -

If the area of the shaded triangle is 24 cm?, what is the area of the figure
PQRS?

Ans: cm? [2]
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For questions 6 to 18, show your workmg ciearly in the space provsded for each
question and write your answers in the spaces provided. Figures are not drawh to
scale. The number of marks available is shown in the brackets [ ] at the end of
each question or part-question. (50 marks)

6.  There was some water in the tank as shown in the diagram below. .
When 288 cm® of water was poured into the tank, the height of the water level
increased to 13 cm. What was the height of the water in the tank at first?

Before After

- o ' 13'cm

—H—*:/;cm *—:/A:cm

8 cm 8.cm

¥

Ans: i3]
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7. Mrs Lau had mangoes and peaches in the ratio of 5:3 After selling 96
mangoes the ratio of the number of mangoes to the number of peaches
became 3:5. Find the number of mangoes. Mrs Lau had at first.

Ans:

£31

Pagée 5 of 16
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Ans: (a)_ 2]

(b) (2




9. Mrs Lim is thrice as old as her daughter now. Given that she is 24 years older
than her daughter. How many years ago was Mrs Lim four times as old as her

daughter?

Ans: {3]
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10. The 16 boxes below are filléd with nimkbers starting.from 110 16. .
Each number can only appear once.

41A 14 5
6 13 12|D
2|1B 16
C 8 1 10

4+A+14+5= @
14+12+8B8+1=
10+1+8+C = 0O
5+.D +16 +10 = ©

(@) FindthevalueofC~n

() Find the valurof @

Ans :(a) [2]

(b} 1]




11.

Rebecca and Stephanie spent $800 altoaetheriduring a trip.
% of Reﬁecce's spending was $45 more than % of Stephanié{s spending.

How much money did Stephanie spend during the tfip?

Ans:

Page 9 of 16
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12.

There weére 20 friore pears than plums at a trut stall; After —;— of the pears
and -1% of the plums were s"old; ﬁiere._ﬁ:ere 48 pears and plums left.

How many plums were left gver?

Ans:

(3]




13.  The figure below is made up an isosceles triangle ABC, rectangle AQRS
unshaded part AZQOC. Area of triangle ABC is % of the area of rectangle PQRS.

N,
: h\“%

N
\\ R N

N
\w:—&k\?‘\\% N
NN
A

N
Y

mis \\

SRR
-

é

(a) Find the area of triangle ABC.

(b) Find the area of the unshaded part in the figure.

Ans: (a)
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14. - The head of a.toy crocodile is. 20 cm Jong its tail is as long as head plus haif of

the length of its body. The body is as long as the head and tail together. what is

the lenath of the toy crocodile?

Ans :

Iy
3

4]




15,

Bala had a box with 4 files. The bok and 4 ﬁle"‘e weighed 11.16 kg.
Then, he added 2 more ﬁles and. Sihooks into! the box.

The mass of the box with a!! the fues and books became 2029 kg.
if the mass of afile is 3 tames the mass ofa book

(a) Find the mass of the bok.

(b) Bala could only it a ma:x'tmumma'ss ot 15 kg:

What was the least number: of file(k) that he could remove from the box so that he
was able to lift the box’? : '

Ans: (a) _ {31

(b) _»
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16.

Four sisters, Alice, Betty, Charmainé-aitd Dollv had a total of 260 sweets at first.
Mother gave Alice 20 mére sweets; Betty ate 10 sweets; Chamaine bought some
sweets and her share doubléd; and.Dosly gave half of her sweets:away, As a
resuit, they had the same number of swicets left.’ N

How rhanv rhore sweets did:‘Dollv have than Charmaine at first?

ANS: 4}




17. Dun‘nq a fund raising project: class A raised % as much money as the total amount

raised by classes 5B and 5C: Class 5B raised = asmuch money as the total
-amount ratsed by c!ass 5Aahd 5C..
(a) What fraction of the funds$ was Fétsed by class 5A? - -

(b) Class 5B raised $104 less than ¢Iass 5C. How much money did class 5C raise?

Ans: (a) 2]

(b) [3]
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18. The ratio of the number of girls’to the: nuniber of boys taking part in'a swimming
assessment was 6:5 The assassment showe d that the ratio of the number of girls'
swimmers 1o the number of girls' non-swimmers wae 5:2 The ratio of the number of
boys' swimmers to the number of boys' non-swimmers was 3:2
(a) what fraction of the children were non-swimmers?

_{b) if there were 30 more boys' non-swimmers than girls'non-swimmers how many
swimmers were there aitogether.

Ans: (a)

(c)

-End of Paper-
Please check your work carefully ©

Setters: Mr. Ho Kai Huat
Mr. Tan Siew Whatt
Mr. Darren Lau
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RGPS Modas 41 o
frunls QLo
Mathematics 2012
Section A
1) 3 6y 2 1) 4
2) 1 7) 1 12) 3
3) 4 8) 2 13) 2
4 3 9) 4 14) 4
5 4 10) 3 15) 1
Section B
16) 654 203 21) 42 kg
_ 20
17) Refer to answer beiow 22) 2.86
18) 9ecm 23)  $39.20
19) Refer to answer befow 24) 500
20) Refer to answer beiow 25) 4 4 7
7 5 4

20)

17) . Y ! L R
/ ,.- \\ -. | \ :
{ . W W
! / A
/ '
b \'\< \ / \‘ .
L] 2 h\ . Fa
\u 'w/ L 5 \ "/ \"'
Line of symmetry
19) 4 )
¢ +
‘_I
177
p y
4
Ve
Ve

3




Section B

26)

16 + (10 x 10)-- 10 = 100

27)

80

28)

20+2 =10
8+2 =4
11+2=35
10x4 x5=200

29)

100 + 300 + 150 = 550
550mi=0.55¢

30)

Start with the largest value:

Yellow (5] 10 15-20 25 30 35 40 45 50 55 60 65 70 75 80 85 90

Red (2) 10 20 30 40 50
Green  (4) 20 - 40
Ans : 4 times

60
60

70 80
80

90

Section C

1)

Girls (Final round) = % x 108 =27

Boys (Final round} = % X 115 =23

Total children (Firsat round) =2 27 + 23 = 50

Fraction —»> —-Si

223

2) 4 piece — 3cuis ——12min
Teut —* 4mn
12 pieces ——» 11cuis —— 44 min
3) Answer: 6:7
4) Andy : Ben
2 3
5 .4
- & 6
15 - 8
Answer: 15:8
5) 4x4=16
16 x 2 =232
32 x 24 = 768 cm’ [
6)  After water pourec in,

Volume of water -» 6 x 8 x 13 =624
Before water was poured in,
624 — 288 = 336

336 +8:6=7




7 ~ Before . After

Apples : Oranges Apples : Oranges
5 3 3 5
= 25 15 : g9 15
25-9 =16
16 units = 96
tunit >6

At first , 25 units > 25x 86
=150

. {a) Area of COD - 9 x6 =54
8} - Length OD > 54x2+6=12

(b) lengthBC —>3x2+4=3

shaded area > 3x12x2=72

2U =24
9) 1U—>24+2 =12
3U=24

U->24+3=8
12 - 8 = 4 yexars aqo

10)

4 i1 14 5
6 13 12 3
9 2 7 16
15 8 1 10

(a) Finding the value of C & D

C-D =15-3
=12
(b) O =34
OR
C | 19
A | 23
B | 27
D K




1+2+3+...+14 +15+ 16 =136 _
4414 +5+6+15+12+9+2+16+8+1+10=100
A+B+C+D=136-100= 36
B+19+23+27+31=136

© =136+4 = 34

11) $45 x 3 =$135
7 units  -> $800 - $135 = $665
1 unit > $665+7 =395
Stephanie > $95 x 4 = $380

Pears > l = Hz-— Plums = i
12} 5 10 10

4 x20 =16
5

15U+ 16 =46

15u =30

Tu=2

Plum-(left over) > 7x2
= 14

13) a) Area of rectargle PQRS - 6x12=72

Area of triangle ABC > % x 72 =48 m?
o]

b) height of triangie ABC > 48x2+8= 12

unshaded area > 6x6=236
%x4x12=24
36 + 24 = 60 m”
Head = 20cm
14) Tail > Head + 2 Body = Head + 2 Head
= 3 Heads
= 60 om
Body > Head + Tail =20 cm + 60 cm
=80 cm

Body > Head + Head + %2 Body
% Body - 2 Heads
Length of crocodile > 20cm + 80cm +80cm
= 160cm




(a) 20.29-11.16=8.13

13) each book > 9.13 +11=0.83
4 files < 12 books
0.83 x12= 9.96
11.16-9.96 = 1.2 kg
(b) 20.29 —15= 5.29
0.83x3=2.49
529+ 2.49=212
2+1=3
Total number of sweets = 260 + 20 - 10
18 . =270
QU =270
1U=270+9
=30
Dolly = 4U -
=4 X 30
= 120G
Charmaine = 30
Dolly - Charmaine = 120 - 30
17 5A . 5B+ 5C 58:5A+%%
2:3 1:5
xB x6 x5 x5
12:18 5 .25
a) Total 30
12 _ 2
30 s
b) 5B :56C
5:13
8u -> $104

fu > ﬁ;—“ = $13

130 > $13 x 13 = $168

35



e .
¢

18

No. of girig’ : No. of boys
6 : 5

/NN

swimmers non-swimmers  swimmers non-swimmers

5 _ ’) 3 5
(x6) 30 12 21 14 o
(a) Total units > 42 +35 =77

Total Non-swimmazars -> 12 + 14 = 26

Fractions -» é
77

(b) 14 units — 12 units = 2 units
2 units -> 30
1unit -> 15
Swimmers -> 30 + 21 = 51 units
No. of swimmers -> 51 x 15
=765
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